
Copyright©KOMPAN A/S

V
K

P
L8

19
X

X
X

X
 2

01
30

71
0 

 M
ar

S
ky

/P
et

rJ
u

1/05

KPL819-0001

KPL819-0601

ART819-0001

ART819-0601

200 cm

6'-7"

KPL819-0001

ART819-0001:

KPL819-0601

ART819-0601:

200 cm

6'-7"

46 cm

1'-6"

26 cm

10"

60 cm
2'

60 cm (2') - R = F

F

RVariable*
Resilient 

Surface

9,6 cm

3 3/4”

13,5 cm

5 1/4”



C
opyright©

K
O

M
P

A
N

 A
/S

VKPL819XXXX 20130710  MarSky/PetrJu

2
/0
5



Copyright©KOMPAN A/S

V
K

P
L8

19
X

X
X

X
 2

01
30

71
0 

 M
ar

S
ky

/P
et

rJ
u

3/05

Safety zone in accordance with EN 1176/AS4685

Sicherheitsabstand gemäß EN 1176/AS4685

Espace d'évolution selon EN 1176/AS4685

Zona de seguridad según EN 1176/AS4685

Distanze di sicurezza in conformità con lo standard EN 1176/AS4685

Veiligheidsgebied in overeenstemming met EN 1176/AS4685

Säkerhetsområde enl EN 1176/AS4685

Sikkerhedsareal iht. EN 1176/AS4685

Зона безопасности в соответствии с EN 1176/AS4685

EN1176/AS4685-normin mukainen turva-alue

All measurements are in cm

Alle Maßangaben in cm

Toutes les dimensions sont indiquées en cm

Todas las medidas están indicadas en cm

Tutte le misure sono in cm

Alle afmetingen zijn in cm

Alla mått är angivna i cm

Alle mål er angivet i cm

Все измерения в см.
Kaikki ohjeessa mainitut mitat ovat senttimetrejä.

Please note: The safety zone shown on this drawing is in accordance with EN 1176/AS4685. There may be some locations where a larger

safety zone is required. If in doubt, please contact your play consultant. 

Achtung: Der angegebene Sicherheitsabstand entspricht EN 1176/AS4685. Bestimmte Länder schreiben größere Sicherheitsabstände vor.

Bitte wenden Sie sich in Zweifelsfällen an Ihren Berater. 

Attention : l'espace d'évolution montré est conforme à EN 1176/AS4685. Dans certains pays, un espace d'évolution plus grand peut être

exigé. Prière de contacter notre conseiller en cas de doute.

Observe: La zona de seguridad demostrada en este dibujo cumple con EN 1176/AS4685. En algunos sitios puede ser necesaria una zona

de seguridadmás grande. En caso de tener alguna duda, por favor póngase en contacto con nuestro consultor. 

Attenzione: la distanza di sicurezza specificata è conforme ai requisiti EN 1176/AS4685. In alcuni paesi, le norme locali possono richiedere

distanze di sicurezza maggiori. In caso di dubbi, contattare il nostro consulente. 

N.B.: het getoonde veiligheidsgebied is in overeenstemming met EN 1176/AS4685. In sommige landen kan een groter veiligheidsgebied

vereist zijn. In geval van twijfel onze adviseur raadplegen. 

Obs: Det markerade säkerhetsområdet följer EN 1176/AS4685. I vissa länder kan det finnas krav på större säkerhetsområde. Kontakta

vänligen vår konsulent om du är osäker. 

Obs.: Det viste sikkerhedsareal er i overensstemmelse med EN 1176/AS4685. I nogle lande kan der være krav  om større sikkerhedsareal.

Kontakt venligst vores konsulent ved tvivlsspørgsmål. 

Внимание: Зона безопасности указана в соответствии с EN 1176/AS4685. Возможны случаи, когда требуется увеличение зоны
безопасности. В затруднительных случаях обращайтесь к Вашему консультанту. 

Huom: Tämän piirustuksen turva-alue on EN1176/AS4685-normin mukainen. Joissain sijoituspaikoissa saatetaan edellyttää suurempaa

turva-aluetta. Jos olet epävarma, otathan yhteyttä KOMPANiin. 

Free height of fall

Freie Fallhöhe

Hauteur de chute libre

Altura de caída libre

Altezza di caduta libera

Vrije valhoogte

Fri fallhöjd

Fri faldhøjde

Высота свободного падения
Vapaa putoamiskorkeus

*



Copyright©KOMPAN A/S

V
K

P
L8

19
X

X
X

X
 2

01
30

71
0 

 M
ar

S
ky

/P
et

rJ
u

4/05

60 mm

2,36"

ø16 mm

0,63 "

120 mm

4,72"

M10x65 MB

210065

702530

M10x60

400315

702530

A200009-51

A200009-51

T853030-0001

A10086-18

M10x60

310060

A10085-18

A10086-18

M10x60

310060

A10085-18

A100-43

A100-43

10x115MB

210060

400210

XX XXXX

EN1176

XXX www.kompan.com

A100-42

V100-10

A10089-18

XX X
XXX

EN1176

XX
X

A100-43

KPL819-0001

ART819-0001:



Copyright©KOMPAN A/S

V
K

P
L8

19
X

X
X

X
 2

01
30

71
0 

 M
ar

S
ky

/P
et

rJ
u

5/05

B10066-41

B10066-41

A853030-51

A853030-51

400010-A2

710000

T853030-0001

A100-02

M 10x38 BB

110038-A2

A100-02

710000

A100-43

A100-43

10x115MB

210060400210

A10086-18

M10x60

310060

A10085-18

A10086-18

M10x60

310060

A10085-18

XX XXXX
EN1176
XXX www.kompan.com

A100-42

V100-10

A10089-18

XX XXXX

EN1176

XX
X

A100-43

Top of safety surface
Oberkante Fallschutzbelag

Surface du revêtement amortissant
Superficie del recubrimiento amortiguador

Livello del materiale ammortizzanto
Bovenkant van veiligheidsondergrond

Överkant av fallunderlag
Overkant af faldunderlag

Безопасный уровень монтажа 
Turva-alustan pinta

BLUE:

blue

blau

bleu

azul

blu

blauw

blå

blå

Голубой
Sininen

400010-A2

BLUE

KPL819-0601

ART819-0601:



Do-Nut vejledning

Do-Nut - Anleitung

Do-Nut instructions

Instrucciones del Do-Nut

Instructions Do-Nut

Istruzioni per Do-Nut

Do-Nut handleiding

Do-Nut anvisningar

Do-Nut asennusohjeet

Do-Nut инструкция

V00001  140306  MarSky / RikBon

A
11

30
3-

18
 

!!
!!
!!
!



V
00

00
1 

 1
40

30
6 

 M
ar

S
ky

EN   
Important! Do not put DO-NUT caps on the DO-NUTs 
until the KOMPAN Product is completely assembled and 
all bolts are tightened.

DE   
Achtung! DO-NUT-Kappen erst anbringen, wenn 
die ganze Anlage aufgestellt und sämtliche Bolzen 
angezogen sind.

FR   
Important ! Ne mettez les capsules DO-NUT qu'une 
fois la combinaison entièrement montée et lorsque 
tous les boulons auront été solidement vissés

ES   
¡Importante! No coloque las tapaderas DO-NUT hasta 
juntar toda la combinación y fijar todos los pernos.

IT   
Importante! Non applicate i cappucci DO-NUT prima 
di aver montato tutto il Peschereccio ed aver stretto 
bene tutti i bulloni.

NL
Belangrijk! Zet de DO-NUT kappen niet op hun plaats 
voordat de hele combinatie in elkaar zit en alle bouten 
gespannen zijn.

SV
Viktigt! Vänta med att slå på DO-NUT-hattarna tills hela 
anläggningen är monterad och alla skruvar åtdragna.

DA
Vigtigt! Vent med at slå DO-NUT-hætterne 
på, til hele anlægget er samlet og alle bolte 
er fastspændt.

FI
TÄRKEÄÄ! Älä asenna DO-NUT pultinsuojien hattuosia
pultinsuojiin, ennen kuin väline on kokonaan asennettu ja
kaikki pultit on kiristetty.

RU
Внимание! Не забивайте DO-NUTs (заглушки) до окончания 
сборки и затягивания всех болтов.



AB200085-128

1/1

1

22,9 x 10

102995

V
20

00
86

12
8 

 2
01

40
53

0 
 M

ar
S

ky
/P

et
rJ

u

2

www.fac.org

100%

Wood fro
m well-

managed forests

FSC  C004450
TM

www.fac.org

100%
Wood from well-
managed forestsFSC  C004450

TM

www.fac.org

100%
Wood from well-
managed forestsFSC  C004450

TM

Must be placed visibly on the product

Ist gut sichtbar am Produkt anzubringen

A placer impérativement à un endroit visible sur le produit

Debe colocarse en lugar visible en el producto

Da collocare in modo ben visible sul prodotto

Должно быть помещено на видном месте на изделии 
Ska placeras synligt på produkten

Skal placeres synligt på produktet

Kiinnitettävä näkyvälle paikalle välineeseen

Duidelijk zichtbaar op het product plaatsen 

Copyright © KOMPAN A/S


